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Title: “The Efficacy of Continuous Infusion Beta Lactams”
Schedule: December 14, 2017

Dana Center Auditorium

1:00-2:00 pm
Audience: Accredited for Pharmacists

Other interested health care professionals welcomed

Credits: 1 Contact Hour —knowledge based
0837-9999-17-145-L.01-P

Presenter: Rajeev Shah, PharmD.
PGY?2 Infectious Diseases Pharmacy Resident

Learning Objectives:
After attending this program, participants will be able to:
1. Recall beta-lactam mechanism of action, spectrum of activity, and rationale for conventional dosing
regimens
2. Describe the pharmacokinetic and pharmacodynamics basis of continuous infusion of beta-lactam
antibiotics
3. Explain the strengths and limitations of the clinical data related to continuous infusions
4. ldentify patients who would benefit from continuous infusions and recommend appropriate dosing
regimens

Requirements for Receiving CE Credit:
e Successful completion of post-presentation questions
e Participation at live program
o Complete program evaluation form

Statement of Disclosure: Disclosure will be made on the day of the program regarding any interest or affiliation a speaker may have
with a supporting organization

This program is approved under program provider #0837- 9999-17-145-L.01-P by the Accreditation Council for
Pharmacy Education for 1.0 contact hours or .1 CEU’s

University of New England College of Pharmacy is accredited by the Accreditation Council for Pharmacy Education
as a provider of Continuing Education.
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